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new learning questions

NO calculator

1.

Austin is sorting out his bedroom.
He has 6 jeans.

Austin gives away 2 jeans.

How many jeans does Austin have left?

. There are 8 passengers on a bus.

2 get off the bus and no one gets on.

How many passengers are still on the bus?

. A guest house has 7 bath mats.

The guest house washes 3 of the bath mats.
The rest of the bath mats are ready to use.

How many bath mats are ready to use?

Gabriella is sorting out her bedroom.
She has 9 articles of dressing up clothing.

Gabriella gives away 7 articles of dressing up clothing.

How many articles of dressing up clothing does Gabriella have left?

. A farm house has 7 small cheeses to sell.

At the end of the day, 6 of the small cheeses have been sold.

The rest of the small cheeses are still in the farm house ready to sell.

How many small cheeses are left in the farm house ready to sell?

. Xavier made 8 macaroons in Food Technology.

5 macaroons have been eaten at school by his friends.

All the rest of the macaroons Xavier will take home.

How many macaroons does Xavier take home?

Answers 1) 4 2) 6 3)4 4)2 5) 1 6) 3
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